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1



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1

1 
   


 

 


 
 





 


 

 


 







 

 

T 
 
 
 


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2

)10-أ -( 
1




2

)1(


 
 
 




 





 
1 
 
 
 
 
2 
 
 
 
 
 

3 
4 
 
 

 
 
5 


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3


 

1 



-



-1

2

 

 
 
 
 
 
 
 
 
 
 
 


-

-



 

-NS


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 

 

 
 
 
 
 

 
 

- 

-  



NS

 

 

 

 

 

 

-



5
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2




 




  
 

01
          

 
 

6 

 
02




 
 

7 
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 
03
   




8 

 






9 



-     



1011

U 





01
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10 11 

-            
NS

12

 
-M

T
M

→ Ν




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31

 
 
 

 

-

 

         

 

 
U14 

 
14 

 
 
 
 

 
 

S

N

B
B B




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 
3 
– 
-        

            



-  
15

-        





 
-             

  d i   
16


Bv 
d

déclinaison  magnétique 
i

inclinaison  magnétique 


Méridien  magnétique 


Méridien  géographique 
tg i= Bv/Bhsin i= Bv/B

cos i = Bh/B  

 






01
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 
-

    


B , d , i 
 

 d(° )I(° ) B(nT) 
 5 50 40000 
 5 64 47000 

 0 90 56000 

 
-  



-

-


-    
    Km3500 




-

        



4 


-1820



 





01
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 



  

 


 

 
         



1819

1981 

 

 




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 
      

2021

20  21 

 

 

22 




 

  (S)  (N) 

           

         

 

 





01
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 
 

-24



 

 

24 25 

 

 

-    I    26   





26 





01
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 

MR





IdB = μ0. I /2πd 

 
 

 2728
 

 

  
 




 
 

I29
 

 
29 




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-R






IR 

 

 
n

30 
 

03 
 


-IR

= .
-= .

N 

 

 

 

 

= .




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 

 

 

31

 

31 

 
 

32 

32 

 

-    I      

           

   



 





01
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33 

 

-Ln







ILn = .
-

B = . . .
N 

 

 

 

 

 

 

 

 





01
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 

 

LR

L>RR>L 

34 

 

 

 

 

 

 

5 

 



 

             °45  

 

35 

 
 

 

 

R

L

L

R





01
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 

 

 M       B1 B2  

= 1+ 2

 

36 

 
 

-M123  

 



= 1+ 2+ 3+….. 

 


